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C-25. NOKA3ATEJIbHbIE YPABHEHUAL.

CUCTEMbI MNOKA3ATEIJIbHbLIX

YPABHEHUW
BapuaHtr A1 BapuaHrt A2
1
Peuivre ypaBHEeHHUA:
2 2 1
a 3“ —X =9; 2:: -3x =
) a) 1
6) 2 + 22 = 36; 6) 5* -5%% = 600;
B) 25 +10-51 -3 =0; B) 9 +3"1 -4 = 0;
r) 2% .52 = 2500. r) 7**'.2* =98,
2
Peimnure cucreMy YypaBHEHHM:
{2*+zy=6, 3* - 3' =6,
3-2F -2Y =10. 2.3" +3" =21.
Bapunaur B1 BapuaHt B2
1

Peumiure ypaBHeHHA:

x-3 x+4 1 3x-1
&) (21+4) = 0’51‘ . 4:—4; a) (3:—3) - (5) . 9x+1.
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6) 3:—1 +3* + 3x+l =13 3,:2 -7; 6) 2x+2 + 21+3 + 2x+4 =7. zxz;

5 -4 3-5 7 -1 7' 449
B) = 5 E) = —;
5 2. 5% 3 7%
r) 2+ . 3%+ _ 9162, r) 2772 .52 — 10007,

2

Peinure cHCTeMy ypaBHEHMI:

4% — 4¥ =15, 5% +5¢ = 30,
x+y=2. x+y=3.
Bapuanr B1 Bapuanr B2

L

Peinnre ypaBHeHUS:

o) 45 = (457" 0 45 < ()",

6) 6x + 6:4»1 = zx + 2x+l + 2:4»2; 6) 3x—l + 3: + 3x+l — 12:—1 + 12.‘!;
B) 10" -10" = 99; ) 5% -5 = 24;
I‘) 62x+4 = 2x+8 . 33::. P) 203x+2 - 4x+12 . 55:-8.

2

Pemure cucTeMy YpaBHEHUM:
{3‘ 5% =175, {2‘ .3 =12,
37 .5 =45, 2Y .38 =18.
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6) 37 +3 43" =13.377; 6) 277 4277 427 = 7.2

5 5 -4_3-57" 5 -1 7 +49.
5 2.5 3 7
1y 2930 L g1gen, 1) 2975 575 2 1000%,

(2]

Permure cHcTeMy ypaBexmit:

47 -4 =15, 5 +5% =30,
x+y=2. x+y=3.
Bapuaur B1 Bapuaunr B2

Pemmre ypasmenus:

o 05 - () o & ({7

6) 6% +6% = 2% + 21 4257, 6) 351 43 4371 =125 4125
5) 10" 10" = 99; B) 5" -5 =24;
1) 6 = ge g, 1) 2097 = ez goes,

o

Pemure cucTemy ypaBHeuu;
{a' 5% =75, {2*-3V =12,
3Y.5% =45, 9v. 3 8.
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C-25. NOKA3ATENIbHbIE YPABHEHUA.
CUCTEMbI MOKA3ATENbHbLIX

YPABHEHUU
Bapuaunr A1 Bapuaunr A2
o
Peuuure ypanuenus:
a) 37 =9; a) 2% =§:
6) 2 425 = 36; 6) 5°—57% =600;
) 257 +10-51 -3=0; B) 0 43 —4=0;
1) 2757 = 2500. 1) 72" =98,
o
Pewure cucTemy ypaBHeHMIL:
{2‘+2"=6, 3° -8 =6,
3.27 -2/ =10. 2.3° 43 =21,
Bapuanr B1 Bapuaur B2
o

Pewure ypaBHemus:

8) (247 20,5474 a) (3" =(%]‘H 97




